Complete numbers 5 - 6 in your composition book.

6) You go to an arcade where each game costs 6
quarters.
a. Write an equation using 2 variables to find the c cos!
- Oof playing g games.

| c=6g
b.'i Identify the independent and dependent varia

~dependent variable: ¢, the cost
independent variable: g, the number of games DlﬁUEi

C. What is the cost of playing 14 games?
C =69

C;fg(f) The cost for 6 games is $84.

d. Graphthe equation.
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Complete numbers 5 and 6 on your notes page.
5) A cheese pizza costs $5. Additional toppings cost
- $1.50 each.

a. Write and graph an equation using 2 variables to
find the total cost of a piZZﬁ With toppings.

c=5+1.50t

b. Identify the zndependent and dependent
- variables.

independent variable: the number of toppings
_dependent variable: the total cost of the pizza

C.. What is the cost of a pizza with 3 toppings?

c=5+1.50t A pizza with 3 toppmgs will cost
c=5+150(3) $9.50.
C=5+4.50

Cc=9.50
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Complete numbers 5 and 6 on your notes page.
6) It costs $35 tojoin a gym. The monthly fee Is $25.

a. Write and graph an equation using 2 variables to
i find the cost of being a member Qf the gyum.

C=35+25m

b. ldentify the independent and dependent
~variables.

iIndependent variable: m, the number of months
~dependent variable: C, the cost of the membership

c. What is the cost of a gum membership for a year?

C=35+25m It costs $335 to be a member of
c=35+25(12)  the gym for a year.
c=35+ 300

C=335
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